C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten

D 7+12:3(5+4-2) 2 7(5+9:3)+15-7 .
2.
3.
4.

3 (8¢3)+35:7+7 4) 3¢5(12-9+3) i
6.
7.
8.

5) 4(8¢3)+7-4 6) (3+12-3)¢6+40:8 .
10.

) 2(9¢7)+42:6 8) 4(24:8+2)+5-3

9 3(28:4+7)+2 10) 10(18-10+2)+6:2
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Reihenfolge der Operationen Name:

L dsungsschltissel

L 0se jede Aufgabe.

D 7+12:3(5+4-2)
7+12:3+(9-2)
7+12:3+(7)
7+47
7+28
35

3 (83)+35:7+7
(24)+35:7+7
24+5+7
29+7
36

 4(8+3)+7-4
4+(24)+7-4
96+7-4
103-4
99

) 2(9+7)+42:6
2+(63)+42:6
126+42:6
126+7
133

9 3(28:4+7)+2
3e(7+7)+2
3¢(14)+2

42+2
44

2 7(5+9:3)+15-7
7+(5+3)+15-7
7+(8)+15-7
56+15-7
71-7
64

4) 3e5(12-9¢3)
3¢5+(12-27)
3+5¢(-15)
15¢-15
-225

6) (3+12-3)¢6+40:8
(15-3)+6+40:8
(12)+6+40:8
72+40:8
72+5
77

8 4(24:8¢2)+5-3
44(392)+5-3
4.(6)+5-3
24+5-3
29-3
26

10) 10(18-10+2)+6:2
10+(8+2)+6:2
10+(10)+6:2

100+6:2
100+3
103

Antworten

35

64

36

-225

99

77

133

26

10.

103
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C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten
-225 99 77 35
64 36 133 26 1
) 7+12:3(5+4-2) 2) 7(5+9:3)+15-7 2
3.
4,
5.
6.
3 (83)+35:7+7 4) 3e5(12-9¢3)
7.
8.
5) 4(8¢3)+7-4 6) (3+12-3)+6+40:8
) 2(9+7)+42:6 8) 4(24:8+2)+5-3
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